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e A 16,675,512 13,993, 163 2,682,349

200 Mi2l&el 4,239,512 3,910, 163 329,349

210 ZAXAM eI 600,000 580,000 20,000

212 223 100,000 80,000 20,000

212-03 S+ AR 2 100,000 80,000 20,000

< EFAZ > 100,000 80,000 20,000
Odt< Al8Z 100,000

216 Ol Xt=¢ 500,000 500,000 0

216-01 32030l X+ 500,000 500,000 0

< EBHAZI > 500,000 500,000 0
O2203 0l Xt 500,000

220 LAIFARI2Y 3,639,512 3,330, 163 309,349

222 403 100,000 100,000 0

222-01 =HIH L 0i2 100,000 100,000 0

< AT > 100,000 100,000 0
O&=MALNHZ 100,000

224 M3 3,388,512 3,079, 163 309,349

224-03 JIEFEI A A LS 3,388,512 3,079, 163 309,349

< EBFLXZ > 3,388,512 3,079, 163 309,349
OLeta|H M2 3,388,512

27 243 100,000 100,000 0

207-02 YBtEe3 100,000 100,000 0

< BFSZ > 100,000 100,000 0
Odt4=& QX 2E2 100,000

229 XA =42 51,000 51,000 0

229-01 XIHEH =49 51,000 51,000 0

< EBFSZI > 51,000 51,000 0
Ot 20Xt B2 51,000

500 X2 12,436,000 10,083,000 2,353,000

510 2DEX3E 10,924,000 8,837,000 2,087,000

511 2NEX3E 10,924,000 8,837,000 2,087,000

511-01 2DEX3 10,924,000 8,837,000 2,087,000

< EFLXZ > 10,924,000 8,837,000 2,087,000
OBt4=2t1 HHIAL 666,000
OHC? StaXeld &X(01S) 1,368,000




Z: 500 EX3
2t 510 212X 3S
g 511 218 E=S (o9 ®2
g-2-8.-5 Off &k 2K & & Off &K Blunsz
Ogc? st=Hel& &X(1DE) 2,009,000
OJIEtst=HMeld Ax(&H) 166,000
OJIEtet=HMeld X (&) 229,000
OJIEtot==Mel & &XI(CH) 293,000
OJIEtSt=HMeld AXI (M4 239,000
OJIEtet=HMeld AX(HE) 340,000
OJIEtot=Mel & Xl (&s) 1,604,000
OJIEtst=HMeld X (&H) 1,794,000
OJIEtet=HMeld 4X(28) 776,000
OJIEtot==HMel & (g2 St=sd Xl MelAld) 1,062,000
OsHENSOH+ZEX(F2) 189,000
OsHEltSot+=T&xI(S8t) 189,000
20 Al,SHIBEZSS 1,512,000 1,246,000 266,000
521 Al - THIBEZ3E 1,512,000 1,246,000 266,000
521-01 Al - SHIEEXZ3S 1,512,000 1,246,000 266,000
<EE+=T > 1,512,000 1,246,000 266,000
oug? st=HMeld 4x(01s) 293,000
Ouc? st=HMelzd 4x(n8) 430,500
OJIEtot=HMel Z2EX(SH) 14,500
OJIEtet=HMeld X (&) 20,000
OJIEtet=HMel®d HAXI(CHA) 26,000
OJIEtot==Mel & &EXI(MaH) 21,000
OJIEtet=HMeld EX(tHE) 30,000
OJIEtet=HMeld 4 (&s) 141,500
OJIEtot==Mel & Xl (&4) 158,500
OJIEtet=HMeld 4x(38) 68,500
OJIEtct=HMelH (o= st==dX HMelAl4d) 227,500
OsHENSOH+ZEX(FR2) 40,500
OsHEltSot+=T&XI(S8) 40,500




